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BIOLOGY 
 
1. Which group of plants species are lower in number in the plant kingdom? 

A.  Fungi   B.  Pteridophyta    C.  Bryophytes    D.  Gymnosperms 
jhtu cyfpy; kpff; Fiwe;j vz;zpf;ifapy; rpw;wpdq;fs; nfhz;l jhtu 
njhFjp vJ? 
A. G+Q;irfs;    B. nlhpNlhigl;lh 
C. gpiuNah/igl;Lfs;  D. [pk;Ndh];ngh;k;fs; 

 
2.  Which class of algae is used in the manufacture of dynamite? 

A.  Chlorophyceae      B.  Chrysophyceae    
C.  Cryptophyceae      D.  Pheophyceae 
ve;j tFg;G My;fhf;fs; ildikl;L cw;gj;jp nra;tjpy; gad;gLfpd;wd? 
A. FNshNuhigrp   B. fpiuNrhigrp 
C. fphpg;Nlhigrp   D. /NgNahigrp  

 
3. Which is an example for chemosynthetic heterotroph? 

A.  Man    B.  Viscum    C.  Nitrosomonas    D.  Beggiatoa 
Ntjp gpw rhh;G caphpf;F vLj;Jf;fhl;L vJ? 
A. kdpjd; B. tp];fk;  C. iel;uNrhNkhdh]; D. ngf;ahNlhth  
 

4. The respiratory quotient of glucose in anaerobic respiration is 

     A. One  B. Four  C. Infinity  D. Less than one 

  fhw;wpy;yh Rthrj;jpy; FSf;Nfh]pd; Rthr <T ________ MFk;. 

  A. xd;W  B. ehd;F C. Kbtw;wJ D. xd;Wf;F FiwthdJ 

 

CHEMISTRY 
 
5. Identify the incorrect pair: 

I.   Washing Soda   – Na2CO3 

II.  Bleaching Powder  – CaO 

III. Plaster of Paris   – CaSO4
1

2
 H2O 

IV. Baking Soda   – NaHCO3 
A.  I  B.  II   C.  III   D.  IV 
jtwhd N[hbia fz;lwpf.  
I. ryit Nrhlh   - Na2CO3 

II. ryitj; J}s;  - CaO 
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III. ghhP]; rhe;J  - CaSO4
1

2
 H2O 

IV. rikay; Nrhlh  - CaO 
A.  I  B.  II   C.  III   D.  IV 

 
6. What are the chemicals present in match stick? 

A. Red Phosphorous, Glue, Sulphur 

B. Antimony Sulphide, Sulphur, Potassium Chlorate 

C. Antimony Sulphide, Red Phosphorous, Glue 

D. Antimony Sulphide, Phosphorous, Sulphur 

jPf;Fr;rpapy; cs;s Ntjpg; nghUl;fs; ahit?  
A. rptg;G gh];gu];> tr;rpuk;> fe;jfk; 
B. Mz;bkdp ry;igL> fe;jfk;> nghl;lhrpak; FNshNul; 
C. Mz;bkdp ry;igL> rptg;G gh];gu];> tr;rpuk; 
D. Mz;bkdp ry;igL> gh];gu];> fe;jfk; 
 

7. Match the following : 

a. Osmium   1. Best conductor of electricity 

b. Lithium   2. Heaviest metal 

c. Tungsten   3. Lightest metal 

d. Silver    4. Highest melting point -3300°C 

 a b c d 

A. 1 2 3 4 

B. 2 1 4 3 

C. 2 3 4 1 

D. 3 4 1 2 

rhpahfg; nghUj;Jf : 
a. M];kpak;   1. rpwe;j kpd;flj;jp 
b. ypj;jpak;   2. kpff; fdkhd cNyhfk; 
c. lq;];ld;   3. kpf ,Nyrhd cNyhfk; 
d. rpy;th;    4. mjpf cUFepiy -3300°C 
 a b c d 
A. 1 2 3 4 
B. 2 1 4 3 
C. 2 3 4 1 
D. 3 4 1 2 
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8. Which of the following pairs are incorrect? 

I. Chloroflurocarbons - Refrigerators 

II. Methane   - Ploughing of fields  

III. Nitrous Oxide  - Enteric fermentation in cows 

IV. Carbon Di Oxide  - Burning of fossil fuels 

A. I and II  B. II and III C. III and IV D. I and IV 

fPo;f;fz;ltw;Ws; jtwhd ,izfs; ahJ? 
I. FNshNuhGNshNuh fhh;gd; - Fsph; rhjdg; ngl;b 
II. kPj;Njd;    - gz;iz kz;iz cOjy; 
III. iel;u]; Mf;i]L  - fhy;eilfspy; nrhpj;jy; 
IV. fhh;gd; il Mf;i]L  - Gij gbt vhpnghUl;fis vhpj;jy; 
A. I kw;Wk; II B. II kw;Wk; III  C. III kw;Wk; IV D. I kw;Wk; IV 
 

9. Match List I with List II correctly. 

   List I       List II 

(Solution)    (pH value) 

a. Blood    1. 6.5 

b. Urine    2. 7.3 – 7.5 

c. Vinegar    3. 5.5 – 7.5 

d. Milk    4. 2.4 – 3.4 

 a b c d 

A. 2 3 4 1 

B. 2 4 1 3 

C. 4 2 3 1 

D. 3 1 4 2 

  gl;bay; I ypUe;J gl;bay; II-I rhpahfg; nghUj;Jf: 

  gl;bay; I   gl;bay; II 

  (fiury;)   (pH-kjpg;G) 

 a. FUjp    1. 6.5 

 b. rpWePh;    2. 7.3 – 7.5 

 c. tpdpfh;    3. 5.5 – 7.5 

 d. ghy;    4. 2.4 – 3.4 

a b c d 

A. 2 3 4 1 

B. 2 4 1 3 
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C. 4 2 3 1 

D. 3 1 4 2 

 
CURRENT AFFAIRS 

 
 
10. The theme of the world special week, celebrated from 4th October 2017 to 10th 

October 2017 is  
Note :(World Space Week) 
A. Exploring new world in space 
B.  Yoga for wellness   
C.  Water and energy for inclusive growth    
D.  Peace, progress and prosperity. 
2017 mf;Nlhlgh; 4 Kjy; mf;Nlhgh; 10 tiuapy; nfhz;lhlg;gl;l cyfr; 
rpwg;G thuj;jpdJ fUg;nghUs;. 
A. tpz;ntspapy; GJ cyfj;jpid Njly;  
B. eyKilikf;fhd Nahfh 
C. cs;slq;fpa tsh;r;rpf;fhd ePh; kw;Wk; Mw;wy;  
D. mikjp Kd;Ndw;wk; kw;Wk; nrOik  

  
11. Who among the following women boxers was declared best boxer of the meet 

during the World Youth Boxing Championship held in Guwahati in 2017? 
A.  Nabin Chandra     B.  Sarjubala Devi    
C.  Minu Basumalary    D.  Ankushita Boro 
2017-k; Mz;L Ft`hl;bapy; eilngw;w cyf ,isNahh; ngz;fs; 
Fj;Jr;rz;il Nghl;bapy; fye;J nfhz;lth;fSs; kpfr; rpwe;j tPuh; vd 
ghuhl;lg;gl;lth;. 
A. egpd; re;jpuh   B. rh;[{ghyh Njtp 
C. kpD ghRkyhp   D. mq;Frpl;lh NghNuh 

 
12. Which city received India’s first UNESCO Heritage City Certificate in 

September 2017? 
A.  Puri    B.  Kanchipuram  C. Aurangabad   D. Ahmadabad 
nrg;lk;gh; 2017-y; ,e;jpahtpd; Kjy; UNESCO ghuk;ghpa rhd;wpjo; ngw;w 
efuk; vJ? 
A. G+hp  B. fhQ;rpGuk;  C. mTuq;fhghj; D. mfkjhghj;  

 
13. Who has won the India’s 46th Grandmaster Chess Champion Tournament - 

2017? 
A.  Srinath Naren     B.  Srinath Narayanan    
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C.  Srinath Venu      D.  Srinath Srinivasan 
,e;jpahtpd; 46-tJ fpuhz;l; kh];lh; nr]; tpisahl;L rhk;gpad; 2017 ahh;? 
A. =ehj; eNud;   B. =ehj; ehuhazd; 
C. =ehj; NtZ   D. =ehj; =epthrd; 

 
14. Which State Government has launched Gyankunj e-class project? 

A.  Andhra Pradesh   B.  Delhi     C.  Kerala     D.  Gujarat. 
ve;j khepy muR f;ahd;fq;Q kpd; th;f;f jpl;lj;jpid nray;gLj;jpaJ? 
A. Me;jpugpuNj~; B. nly;yp  C. Nfush  D. F[uhj;  

 
15. The Union Ministry of health and family welfare and ICMR launched IHMI 

on November 28, 2017.  What does IHMI stands for? 
A.  India Hypertension Management Initiative    
B.  India Health Management Initiative    
C.  India Heart and Mind Care Intellect    
D.  India Health Maintenance Initiative. 
ey;tho;T kw;Wk; FLk;g eyj;Jiw xd;wpa mikr;rfk; 2017- etk;gh; 28 md;W 
ICMR cld; ,ize;J IHMI-apid Jtf;fpAs;sJ. IHMI vd;gJ vijf; 
Fwpf;Fk;? 
A. ,e;jpa mjpf ,uj;j mOj;jk; Nkyhz;ik njhlf;fk;  
B. ,e;jpa Njfepiy kw;Wk; ey Nkyhz;ik njhlf;fk;  
C. ,e;jpadpd; ,ja kw;Wk; %is ey mwpT  
D. ,e;jpa Njfepiy MNuhf;fpak; kw;Wk; guhkhpj;jy; njhlf;fk;  

 
16. Match List I with List II: 
  List I                                                    List II  

a.  China       a.  St. Francis 
b.  Pennsylvania    b.  Assam 
c.  Los Angeles    c.  Hwang Ho  
d.  India     d.  Johnstown 
    
a  b      c       d 
A.   4 1 2 3  
B.   3 4 1 2 
C.   2 1 3 4 
D.   3 1 2 4 

 thpir I cld; thpir II id nghUj;Jf: 
  Kf;fpa nts;sr; rPh;FiyT  
  thpir I    thpir II 
 a. irdh    1. nrapd;l; gpuhd;]p]; 
 b. ngd;rpy;Ntdpah  2. m];]hk;  
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 c. yh]; VQ;ry;];   3. `hthq; N`h 
 d. ,e;jpah    4. N[hd;];lhd;  

a  b      c       d 
A.   4 1 2 3  
B.   3 4 1 2 
C.   2 1 3 4 
D.   3 1 2 4 

 
17. The recently conducted Indo-Maldives Joint Military exercises was called as 

A.  IMBAX 2017   B.  EKUVERIN 2017 
C.  INDRA 2017   D.  SAMPRITI 2017 
rkPgj;jpy; eilngw;w ,e;jpa khyj;jPT gu];gu $l;L ,uhZt gapw;rp vt;thW 
miof;fg;gLfpwJ? 
A. ,k;ghf;]; 2017   B. vf;Fthpd; 2017 
C. ,e;jpuh 2017   D. rk;g;hPj; 2017 

 

18.  India lacks a strong backhaul to get a transition to 5G with in September 2017.  
Backhaul is a network 
A.  Portal for data discrimination  
B.  Connecting cell sites to central exchange 
C.  Coupler for wireless data transmission 
D.  Range finder for cellular consumer 
nrg;lk;gh; 2017 -f;Fs; ,e;jpah> 5G-f;F epiykhw;wk; Vw;gLj;jpf; nfhs;Sk; 
mstpyhd tYthd „ghf;`Tiy‟ (Backhaul) ngw;wpUf;ftpy;iy. ghf;`Ty; 
vd;gJ ,jw;fhdnjhU ,iza tiy tif 
A. juT gFg;gha;tpw;Fz;lhd thapy; 
B. ika khw;W epiyaj;NjhL ifg;Ngrpapd; jq;F epiyapid ,izf;Fk; 
tiy  
C. fk;gpapy;yh juT nrYj;Jiff;fhd gpizg;gp 
D. ifg;Ngrp Efh;NthUf;fhd neUf;fq;fhl;b  

 
19. “Operation Ice Bridge” is associated with 

A.  ISS     B.  ISRO    C.  NASA    D.  ESA 
„gdp ghyk; eltbf;if‟ ve;j mikg;NghL njhlh;GilaJ 
A.  ISS     B.  ISRO    C.  NASA    D.  ESA 

 
20.  Identify the organisation inaugurated on October 2017 at New Delhi by 

Prime Minister of India. 
A.  All India Institute of Unani  B.  All India Institute of Siddha 
C.  All India Institute of Ayurveda D.  All India Institute of Naturapathy 
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GJ nly;ypapy; 2017-k; Mz;L mf;Nlhgh; khjk; ,e;jpa gpujkh; mth;fshy; 
njhlq;fp itf;fg;gl;l mikg;G  
A. midj;jpe;jpa Adhdp kUj;Jt epWtdk;  
B. midj;jpe;jpa rpj;j kUj;Jt fofk;  
C. midj;jpe;jpa MAh;Ntj kUj;Jt fofk;  
D. midj;jpe;jpa ,aw;if kUj;Jt fofk;  

 
21. Identify the odd person out of the following. 

A. Trisha Deb    B. Nital Paul 

C. Lily Chanu Poonam  D. Jyothi Surekha Vennam 

fPNo nfhLf;fg;gl;Ls;sth;fspy; nghUe;jhj egiuj; Njh;e;njL.  
A. jphp~h Njg;    B. epl;ly; ghy; 
C. ypy;yp rhD g+dk;   D. N[hjp RNufh ntd;dk; 

 

22. Which Tamil Nadu State Highway among these was not upgraded as 

National Highway in November 2017? 

A. Tirupur – Odanchatram State Highway 

B. Salem – Tirupathur – Vaniyambadi State Highway 

C. Kodaighat – Kodaikanal State Highway 

D. Chennai – Ennore State Highway 

gl;baypy; ,Uf;Fk; jkpo;ehl;bd; ve;j khepy neLQ;rhiy etk;gh; 2017-y; 
Njrpa neLQ;rhiyahf Nkk;gLj;jg;gltpy;iy?  
A. jpUg;g+h; - xl;ld;rj;jpuk; khepy neLQ;rhiy 
B. Nryk; - jpUg;gj;J}h; - thzpak;ghb khepy neLQ;rhiy 
C. Nfhilfhl; - nfhilf;fhdy; khepy neLQ;rhiy 
D. nrd;id – vz;Z}h; khepy neLQ;rhiy 

 

23. Where was the Fourth World Tamil’s Economic Conference held? 

A. Coimbatore  B. Kualalumpur   C. Singapore D. Durban 

ehd;fhtJ “cyfj; jkpoh; nghUshjhu khehL” vq;F eilngw;wJ?  

A. Nfhit  B. Nfhyhyk;g+h;  C. rpq;fg;g+h;  D. lh;gd; 

 
24. _________ is the first Indian City to get its own logo. 

A. Pune  B. Bengaluru  C. Chennai  D. Delhi 

,e;jpahtpy; jdf;nfd;W rpd;dj;ij ngw;w Kjy; efuk; vJ? 
A. g+dh  B. ngq;f@U  C. nrd;id  D. nly;yp 

 

25. World Forest Day is celebrated on 
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A. March 8  B. March 21 C. March 22 D. March 23 

cyf fhLfs; jpdk; nfhz;lhlg;gLk; ehs; vJ? 
A. khh;r; 8   B. khh;r; 21   C. khh;r; 22  D. khh;r; 23 

 

26. Match the title winners with their championship of 2017? 

a. Ms. Saikhom Mirabai 1.World Junior (V 20) Chess Championship 

 Chanu        

b. Ms. Mary Kom  2. World Weight Lifting Championship 

c. Mr. Gopi Thonakal  3. Asian Women’s Boxing Championship 

d. Master Aravindh    4. Asian Marathon Championship 

    Chithambaram    

 a b c d 

A. 3 4 2 1 

B. 2 3 4 1 

C. 2 3 1 4 

D. 3 2 1 4  

2017 ,jw;fhd gl;lk; ntd;wtiuAk;> rhk;gpad; ~pg; gl;lj;ijAk; nghUj;Jf. 
a. nry;tp rha;Nfhk; kPuhgha; rhD 1. cyf ,sepiy (V 20) rJuq;f 

   rhk;gpad;~pg; 
b. nry;tp Nkhp fhk;   2. cyf gS J}f;Fk; rhk;gpad;~pg; 
c. jpU. Nfhgp njhndf;fy;  3. Mrpa kfsph; Fj;Jr; rz;il  
        rhk;gpad;~pg;       
d. nry;td; mutpe;j; rpjk;guk; 4. Mrpa khuj;jhd; rhk;gpad;~pg; 

 a b c d 
A. 3 4 2 1 
B. 2 3 4 1 
C. 2 3 1 4 
D. 3 2 1 4  
 

27. Mention the floriculture centre started recently under the Indo Israel Joint 

Agreement on agricultural project. 

   A. Thovalai, Kanyakumari District B. Thally, Krishnagiri District 

   C. Anna Nagar, Chennai   D. Connoor, Nilgiri District 

 rkPgj;jpy; ,e;jpa - ,];Nuy; $l;L Ntshz;ikj; jpl;lj;jpd; fPo; kyh;  
 tsh;g;G ikak; vq;F njhlq;fg;gl;lJ?  
  A. Njhthiy> fd;dpahFkhp khtl;lk; B. jsp> fpU~;zfphp khtl;lk; 
  C. mz;zhefh;> nrd;id   D. Fd;D}h;> ePyfphp khtl;lk; 
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28. Identify the defence equipment which was originally decommissioned on 

December 17, 2017 by the Indian Air Force. 

A. P – 8 ILR Maritime Reconnaissance Anti Submarine Warfare 

 Aircraft 

B.  Mi – 8 Attack and Utility Helicopter 

C.  P – 3 Orion Anti Submarine Warfare Aircraft 

D.  Mi – V5 Medium Lift Reconnaissance Aircraft 

,e;jpa tpkhdg; gilahy; 2017-k; Mz;L brk;gh; 17-k; ehs; mYty;  hPjpahf 
iftplg;gl;l ghJfhg;G Ch;jp  
A. P – 8 ILR Maritime Reconnaissance Anti Submarine Warfare Aircraft 
B. Mi – 8 Attack and Utility Helicopter 

    C. P – 3 Orion Anti Submarine Warfare Aircraft 
    D. Mi – V5 Medium Lift Reconnaissance Aircraft 
 

29. Identify the Playwright who published the work “Dark horse and other 

plays” in October 2017? 

A. Gowri Ramnarayan   B. Gowri Lankesh 

C. Arun Kolatkar    D. Mahesh Dattani 

2017-k; Mz;L mf;Nlhghpy; ntspaplg;gl;l “Dark horse and other plays” vd;w 
ehlfj;ij ntspapl;lth;.  
A. nfshp uhk;ehuhaz;   B. nfshp yq;Nf~; 
C. mUz; nfhyhj;fh;   D. kNf~; jj;jhzp 

 
30. National Integration Day celebrated in 

A. November 19 B. October 20 C. June 10  D. August 12 

Njrpa xUikg;ghL jpdk; nfhz;lhLk; ehs; vJ? 

A. etk;gh; 19  B. mf;Nlhgh; 20 C. [_d; 10 D. Mf];L 12 

 

31. The writer of the Novel “Dukkam Sukkam” who has been chosen for the Vyas 

Samman 2017 is Mr/Mrs 

    A. Surindar Varma   B. Sunita Jain 

    C. Mamta Kalia   D. Kamal Kishore Goyenka 

    2017-Mk; Mz;bw;fhd tpah]; rk;khd; tpUjpw;fhf Njh;e;njLf;fg;gl;Ls;s     

 „Jf;fk; Rf;fk;‟ vd;w ehtypd; Mrphpauhd ,th; jpU/jpUkjp 

  A. fhpe;jh; th;kh   B. Rdpjh n[apd; 

  C. kk;jh fhypah   D. fky; fpN~hh; Nfhad;fh 
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32. The recommendations of 15th Finance Commission will be effect from which 

date? 

    A. January 1, 2018    B. April 1, 2018  

   C. April 1, 2020    D. January 1, 2020 

 15-tJ epjpf;FOtpd; ghpe;Jiufs; vg;nghOJ eilKiwf;F tUk;? 

 A. [dthp 1> 2018   B. Vg;uy; 1> 2018 

 C. Vg;uy; 1> 2020   D. [dthp 1> 2020 

 
33. Who among the following has been appointed as the Deputy Director General 

for programmes of the World Health Organisation? 

A. Nisha Desai Biswal   B. Dineshwar Sharma 

C. Soumya Swaminathan   D. Gautam Bewbawala 

cyf Rfhjhu epWtdj;jpd; Gjpa Jizg; nghJ ,af;Feuhf (jpl;lk;)   

(Deputy Director General) epakpf;fg;gl;lth; 

A. ep~h Nj~ha; gp];thy;   B. jpNd~;th; rh;kh 

C. nrskpah Rthkpehjd;   D. nfsjk; gpA+gthyh  

 

34. In order to encourage the power loom sector and help small industrious and 

joint venture launched by the Ministry of power loom and textiles in 2017 is 

called 

    A. SAMPRADA B. DOST C. AARAKSHAN D. SAATHI 

2017-Mk; Mz;L ,e;jpa tpirj;jwp kw;Wk; [Tspj; Jiw> tpirj;jwp kw;Wk; 
rpWnjhopy; epWtdq;fs; Mfpait nkd;NkYk; tsu Cf;fg;gLj;jg;gl;l jpl;lk; 

A. SAMPRADA B. DOST C. AARAKSHAN D. SAATHI 

 

ECONOMICS 
 
35. Agricultural productivity can be measured in terms of 

A.  Consumption of fertilizers and labour productivity   
B.  Irrigational facilities    
C.  Land and Labour productivity     
D.  Mechanization 
Ntshz;ik cw;gj;jpia mstpLk; Kiw  
A. cuj;jpd; Efh;tsT kw;Wk; ciog;G cw;gj;jp jpwd; 
B. ePh;g;ghrd trjp  
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C. epyk; kw;Wk; ciog;gpd; cw;gj;jpj;jpwd; 
D. ve;jpukakhjy;  

 
36. Supply is constant in 

A. Short period    B. Very short period  

C. Long period    D. Very long period 

mspg;G  epiyahf ,Uf;Fk; fhyk; 
A. FWfpa fhyk;   B. kpff; FWfpa fhyk; 
C. ePz;l fhyk;    D. kpf ePz;l fhyk; 
 

 

37.  The classical economists believed in _______ policy. 

A. Free trade B. Industrial C. Export and Import D. Commerce 

goikg; nghUspay; mwpQh;fs; _________ nfhs;ifapy; ek;gf;if 
nfhz;bUe;jdh;.  
A. jilapy;yh thzpgk;   B. njhopy;Jiw 
C. Vw;Wkjp kw;Wk; ,wf;Fkjp  D. thzpfk; 

 
38. Entrepreneurship Development Programme (EDP) is associated with 

A. Eradication of Illiteracy 

B. To make and prove women’s potential 

C. To bring out the talents of women 

D. Eradication of poverty 

njhopy; KidT Kd;Ndw;wj;Jf;fhd jpl;lk; (EDP) njhlh;GilaJ 
A. vOj;jwptpd;ikia xopg;gjw;fhd jpl;lk; 
B. ngz;fspd; Mw;wiy ep&gzk; nra;a cjTk; jpl;lk; 
C. ngz;fspd; jdpj;jpwikfis ntspf;nfhzh;jy; 
D. tWikia xopg;gjw;fhd jpl;lk; 

 

39. Match the following : 

a. Jawahar Gram Samridhi Yojana    1. 1993 

b. National Social Assistance Programme   2. 1977 

c. Employment Assurance Scheme    3. 1995 

d. Integrated Rural Development Programme  4.  1999  

 a b c d 

A. 3 2 1 4 
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B. 4 3 1 2 

C. 4 2 1 3 

D. 3 1 2 4 

nghUj;Jf. 
a. [t`h; fpuhk; Ntiy tha;g;Gj; jpl;lk;   1. 1993 
b. ehl;L r%f cjtpj; jpl;lk;     2. 1977 
c. Ntiy tha;g;G cWjpj; jpl;lk;    3. 1995 
d. fpuhk xUq;fpize;j tsh;r;rpj; jpl;lk;   4. 1999  
 a b c d 
A. 3 2 1 4 
B. 4 3 1 2 
C. 4 2 1 3 
D. 3 1 2 4 

 

40. The founder of Scientific Socialism 

A. Alfred Marshall B. Karl Marx  C. J.A.Schumpeter   D. J.M. Keynes 

mwptpay; rkjh;kj;ij Njhw;Wtpj;jth;  
A. My;gpul; khh;~y;   B. fhuy; khh;f;]; 
C. J.A. Rk;gPl;lh;   D. J.M. fPd;R 
 

41. The Planning Commission in India is now known as 

    A. Planning Council    B. NITI Aayog  

    C. NITI Sanjog     D. Bharatiya Aayog Mandal 

  ,e;jpahtpd; jpl;lf; fkp~d; jw;NghJ vt;thW miof;fg;gLfpwJ?  
    A. jpl;lf;FO     B. epjp MNahf; (NITI Aayog) 
    C. epjp rQ;N[hf; (NITI Sanjog) D. ghujPa MNahf; kz;ly 
 
42. New Agricultural Price Policy was announced in the year 

A. 1984  B. 1976  C. 1996  D. 1986 

  Gjpa Ntshz; tpiyf; nfhs;if ntspaplg;gl;l Mz;L  

A. 1984  B. 1976  C. 1996  D. 1986 

 

43. The birth of economics of education was announced by 

A. Marshall B. Karl Marx  C. Schultz  D. Keynes 

fy;tp gw;wpa nghUspaiy cUthf;fpath; 

A. khh;~y;  B. fhuy;khh;f;]; C. ];fy;l;]; D. fPd;R  
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GENERAL KNOLEDGE 
 
 

44. Which commission sets up international food standard? 

A. Codex Alimentations Commission 

B. Food and Agricultural Commission 

C. World Health Commission 

D. I.S.I. 

czTg; nghUl;fs; rk;ge;jg;gl;l cyf juj;ij mwpe;J nfhs;Sk; nghUl;L 
mikf;fg;gl;l fkp~d; ahJ? 
A. Nfhlhf;]; mypnkd;Nl~d; fkp~d; 
B. czT kw;Wk; Ntshz;ikj; Jiw fkp~d; 
C. cyf Rfhjhu fkp~d; 
D. ,e;jpa ju FOkk; 

 
45. In Tamil Nadu which year TNEB was established on the basis of  

EB Act of 1948? 

    A. 1957 July 1    B. 1957 August 1 

    C. 1957 September 1   D. 1957 October 1 

     1948-k; Mz;L kpd; gfph;khd rl;lj;jpd; gb jkpofj;jpy; ve;j Mz;L   

  kpd;rhu thhpak; (TNEB) mikf;fg;gl;lJ?  

    A. 1957 [{iy 1   B. 1957 Mf];l; 1  
    C. 1957 nrg;lk;gh; 1   D. 1957 mf;Nlhgh; 1 
  

46. Match the following : 

  List I     List II 

a. Public Service Commission  1. 1924 

b. Hindu Religious Endowment Act 2. 1929 

c. Andhra University   3. 1920 

d. Staff Selection Board   4. 1925 

  a b c d 

A.  4 3 2 1 

B.  2 4 1 3 

C.  4 2 3 1  

D.  2 3 4 1 

    nghUj;Jf:  
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   thpir I     thpir II  

  a. nghJgzp Njh;thizak;   1. 1924 

  b. ,e;J mwepiyg; rl;lk;   2. 1929 

  c. Me;jpuh gy;fiyf;fofk;   3. 1926 

  d. gzpahsh; Njh;T thhpak;  4. 1925 

  a b c d 

A. 4 3 2 1 

B. 2 4 1 3 

 C. 4 2 3 1  

D. 2 3 4 1 

 

 
 

GEOGRAPHY 
 
47. Consider the following statement, choose the correct answer from the codes 

given below 
Assertion (A):  The motion of the Earth rotate on its axis called  

        rotation. 
Reasons (R) :      Rotation movement causes seasons 
A.  (A) alone is correct (R) is incorrect 
B.  (A) and (R) are correct and (R) is the correct explanation of (A) 
C.  (A) and (R) are incorrect 
D.  (A) and (R) are correct but (R) is not the correct explanation of (A) 
fPo;fhZk; thf;fpaq;fis mbg;gilahf nfhz;L rhpahd tpilia 
nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J Njh;T nra;f.  
$w;W (A) : G+kp jd;idj;jhNd Rw;wpf; nfhs;tij jw;Row;rp  
              vd;fpNwhk;  
fhuzk; (R) : jw;Row;rp ,af;fk; fhuzkhfj;jhd; gUtfhyk;  
               cUthfpwJ 
A. (A) kl;Lk; rhp (R) jtW  
B. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R), (A) cila rhpahd tpsf;fkhFk; 
C. (A) kw;Wk; (R) ,uz;Lk; jtW  
D. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R), (A) cila rhpahd tpsf;fky;y  

 
48. Match the following : 

     a. Assam    1. Podu 

     b. Andhra Pradesh  2. Mashan 
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     c. Madhya Pradesh  3. Ponam 

     d. Kerala    4. Jhum 

  a b c d 

A. 3 1 2 4 

B. 2 3 4 1 

C. 1 2 3 4 

D. 4 3 2 1 

nghUj;Jf: 

 a. m];]hk;   1. nghL 

 b. Me;jpugpuNjrk;   2. khrd; 

 c. kj;jpa gpuNjrk;  3. nghd;dk; 

 d. Nfush    4. [{k;  

a b c d 

A. 3 1 2 4 

B. 2 3 4 1 

C. 1 2 3 4 

D. 4 3 2 1 

 
49. Match the following and choose the correct answer : 

  Local winds      Location 

a. Chinook   1. Gulf of Mexico 

b. Fohn    2. USA 

c. Mistral   3. Northern Italy 

d. Norte    4. Alps region 

 a b c d 

A. 2 3 4 1 

B. 4 3 2 1 

C. 1 4 2 3 

D. 4 2 1 3  

  fPo;fz;ltw;iw nghUj;jp rhpahd tpilia Njh;e;njL:  
 jyf; fhw;Wfs;  ,lq;fs;  
  a. rpd;D}f;   1. nkf;rpNfh tisFlh 
  b. /ghd;    2. mnkhpf;f If;fpa ehLfs;  
  c. kp];l;uy;    3. tlf;F ,j;jhyp 
  d. ehh;l;    4. My;g;]; kiy 
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a b c d 

A. 2 3 4 1 

B. 4 3 2 1 

C. 1 4 2 3 

D. 4 2 1 3  

 

 
HISTORY 

 
 
50. Match the following and choose the correct one: 

a.  Panipet   1.  A.D. 1527  
b.  Gaghra  2.  A.D. 1528 
c.  Khanwa  3.  A.D. 1529 
d.  Chandari  4.  A.D. 1526 
         a b c d 
A.   1 2 4 3  
B.   4 3 1 2 
C.   3 4 2 1 
D.   2 1 3 4 

     fPo;tUgdtw;iw nghUj;jp rhpahd tpilia Njh;T nra;f.  
   a. ghdpgl;   1. fp.gp. 1527 
 b. fhf;uh    2. fp.gp. 1528 
   c. fhd;th   3. fp.gp. 1529 
 d. re;Njhp   4. fp.gp. 1526 

a b c d 
A.   1 2 4 3  
B.   4 3 1 2 
C.   3 4 2 1 
D.   2 1 3 4 

 
51. The rulers of the Bhopal Shajehan Begum and Sultana Jehan Begum provided 

monetary support for the preservation of the ancient site 
A.  Saranath pillar   B.  Sanchi stupi 

C.  Humayun tomb   D.  Shersha’s tomb 
Nghghy; murpahh;fshd ~h[`hd; NgfKk;> Ry;jhdh n[`hd; NgfKk; ,e;j 
tuyhw;W rpd;dj;ij nrg;gdpl Vuhskhd gzj;ij thhp toq;fpdh;  
A. rhuehj; fy;J}z;   B. rhQ;rp ];J}gp 
C. ckhA+d; fy;yiw   D. n~h;~htpd; epidtplk;  
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52.  Farid was the original name of 

A.  Sher Shah B.  Ibrahim Lodi C.  Sikander Lodi  D.  Ala-ud-din 
ghPj;jpd; cz;ikahd ngah; 
A. n~h;~h    B. ,g;uh`pk; Nyhb  
C. rpf;fe;jh; Nyhb   D. myhTjPd;  

 
53. Vak Pathar wrote 

A. Pancha Sidhanthiga  B. Astangasamgraham 

C. Girudharshuniam   D. Amarakosam 

thf;gjh; vOjpa E}y; 
A. gQ;r rpj;jhe;jpfh   B. m~;lhq;f rk;fpUfk; 
C. fpUjhh;r;Rdpak;   D. mkuNfh~k; 

 

54. Guerilla warfare means 

A. Regular warfare   B. Practised warfare 

C. Irregular warfare   D. Mixed warfare 

nfhhpy;yh Nghh; Kiw vd;why;  
A. Kiwahd Nghh; Kiw  B. gapw;rp ngw;w Nghh; Kiw 
C. Kiw rhuh Nghh; Kiw  D. fyg;G Nghh; Kiw 
 

55. Match the correct answer : 

a. Saradha Act    1. 1992 

b. Equal Pay Act   2. 1976 

c. Block Board Act   3. Tmt. Indira Gandhi 

d. 20 Point Programme  4. 1929 

  a b c d 

A. 4 2 1 3 

B. 3 1 2 4 

C. 2 1 3 4 

D. 3 4 2 1 

nghUj;Jf. 
a. rhujh jpl;lk;   1. 1992 
b. rk Cjpa jpl;lk;  2. 1976 
c. fUk;gyif jpl;lk;  3. jpUkjp. ,e;jpuh fhe;jp 
d. 20 mk;r jpl;lk;  4. 1929 
  a b c d 
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A. 4 2 1 3 
B. 3 1 2 4 
C. 2 1 3 4 
D. 3 4 2 1 

 
56. Which monument depicted the similarity between Prakoy Literature and 

Dravida Literature? 

    A. Bengali  B. Lisiar  C. Caspiar  D. Telugu 

gpuh$a; nkhopfSf;Fk;> jpuhtpl nkhopfSf;Fk; ,ilNa cs;s xw;Wikia 
$Wk; fy;ntl;L 
A. tq;fhs  B. yprpah;  C. fh];gpah;  D. njYq;F 

 

57. In Rig Vedic period warrior art taught to the Princes of olden days are known 

as 

A. Sama Vedam    B. Danur Vedam   

C. Adharva Vedam    D. Varuna Vedam 

hpf;Ntj fhyj;jpy; mur Fkhuh;fSf;F fw;gpf;fg;gl;l Nghh;f;fiy  ,t;thW 
miof;fg;gl;lJ. 

A. rhk Ntjk;   B. jDh; Ntjk; 

C. mjh;t Ntjk;   D. tUz Ntjk;  

  

58. Find the name of the ruler who gave Pondicherry to French. 

     A. Fahlul Khan Lodi  B. Ibrahim Lodi C. Sherkhan Lodi  D. Iltutmish 

  GJr;Nrhpia gpnuQ;Rf;fhuh;fSf;F toq;fpath; ahh;? 

  A. g`Y}y; fhd; Nyhb   B. ,g;uhfpk; Nyhb 

  C. N~h;fhd; Nyhb    D. ,y;Jkp~;  

 

59. Shivaji got himself coroneted at 

    A. Torna  B. Raigarh  C. Kalyan  D. Purandhar 

   rpth[papd; Kb#l;L tpoh eilngw;w Nfhl;il  

  A. Njhh;dh  B. nua;fhh;  C. fy;ahz;  D. Gue;jh;  

 

60. The construction of Qutb Minar was started by 

   A. Iltutmish B. Aram Shah C. Qutb ud din Aibek D. Firoz Shah 

 FJg;kpdhh; vd;Dk; NfhGu fl;Lkhdg; gzpfisj; njhlf;fp itj;jth; 

 A. ,y;Jkp~; B. Muk; ~h C. Fj;GjPd; Ingf; D. gpNuh]; ~h 
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61. In which one describes the social conditions of the Sangam Tamils? 

    A. Ettuthogai      B. Pathupattu  

    C. Porulathikaram in Tolkappiam  D. Silapadhikaram 

  ve;j xd;W rq;fj; jkpopd; rKjha epiyia tpsf;FfpwJ? 

  A. vl;Lj;njhif       B. gj;Jg;ghl;L 

  C. njhy;fhg;gpaj;jpy; cs;s nghUs;jpfhuk;   D. rpyg;gjpfhuk;  

 

62. Match List I with List II and select the correct answer using the  code given 

below the List. 

   List I       List II 

a. Amuktamalyada   1. Gulbarga 

b. Juma Masjid   2. Bijapur 

c. Golgumbaz    3. Sanskrit 

d. Jambavathi Kalyanam  4. Telugu 

  a b c d 

A.  1 3 2 4 

B.  3 2 4 1 

C.  4 1 2 3 

D.  2 4 3 1 

thpir I cld; thpir II apidg; nghUj;jp thpirfSf;F fPo; 

nfhLf;fg;gl;Ls;s njhFg;gpypUe;J rhpahd tpilapid Njh;T nra;f.  

 thpir I    thpir II  

a. m. Kf;jkhypajh  1. Fy;gh;f;fh 

b. [_k;kh k#jp  2. gP[g;G+h; 

c. Nfhy;Fk;gh   3. rk];fpUjk; 

d. [hk;gtjp fy;ahzk; 4. njYq;F  

a b c d 

A. 1 3 2 4 

B. 3 2 4 1 

C. 4 1 2 3 

D. 2 4 3 1 

 

 



 

20 
 

 

PHYSICS 
 
63. Pick out the correct reasons: 

 Oil mixed with petrol for two wheelers due to the following reason(s): 
 1.  It lubricates the engine parts. 
 2.  It removes heat inside two engines. 
 3   It allows for the deposit of carbon on the spark plug. 
 A.  (1), (2) and (3)   B.  (1) and (2) only 

 C.  (2) and (3) only   D.  (1) and (3) only 
rhpahd fhuzq;fis njhpT nra;f: 
gpd;tUk; fhuzq;fspdhy; xU rf;fu thfdq;fSf;F> ngl;NuhYld; vz;nza; 
fyf;fg;gLfpwJ. 
1. ,ae;jpu ghfq;fis cuha;tpypUe;J ghJfhf;Fk;  
2. ,U ,ae;jpuq;fSf;fpilapyhd ntg;gj;ij ,J ntspNaw;Wk; 
3. jPg;nghwpr; nrUfpy; (plug), ,J fhpiag; gba itf;Fk;  
A. 1, 2 kw;Wk; 3   B. 1 kw;Wk; 2 kl;Lk;  
C. 2 kw;Wk; 3 kl;Lk;   D. 1 kw;Wk; 3 kl;Lk;  

 
64. Which of the following devices converts light signals into electrical (or) 

electronic signals? 

     1. Digital camera  2. Fax machine   3. Optical transmitter 

A. (1) and (2) only     B. (2) and (3) only   

C. (1) and (3) only   D. (1), (2) and (3) 

  gpd;tUk; cgfuzq;fspy;> xsp iriffis kpd;dpay; (m) kpd;dZ    
  iriffshf khw;Wgit. 
  1. ,yf;f xspg;glf; fUtp 2. njhiy efyp 3. Xspapay; gug;gp 
    A. (1) kw;Wk; (2) kl;Lk;     B. (2) kw;Wk; (3) kl;Lk;  
    C. (1) kw;Wk; (3) kl;Lk;   D. (1), (2) kw;Wk; (3) 
 

65. A man sitting in the revolving chair with stretched hands, suddenly bend his 

hands, the angular velocity 

     A. decreases  B. increases C. zero  D. constant 

  iffs; ePl;lg;gl;l epiyapy; RoYk; ehw;fhypapd; kPJ mkh;e;jpUf;Fk;    
  xUth;> jpBnud iffis klf;Fk; NghJ Nfhzj; jpirNtfk; 
    A. FiwAk;  B. mjpfkhFk; C. RopahFk;    D. khwhkypUf;Fk; 
 
66. Which of the following statements is/are wrong? 
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1. Light year is a unit of time. 

2. Astronomical Unit (AU) is a unit of distance. 

3. Parsec is a unit of mass. 

A. (2) and (3)  B. (1) and (3) C. (3) only  D. (1) only 

   fPo;f;fz;l $w;Wfspy; vJ / vit jtwhdJ MFk;? 

   1. xsp Mz;L vd;gJ fhyj;jpd; Xh; myfhFk;  

   2. thdpay; myF (AU) vd;gJ njhiytpd; Xh; myfhFk;  

   3. ghh;nrf; vd;gJ epiwapd; Xh; myfhFk;  

  A. 2 kw;Wk; 3  B. 1 kw;Wk; 3 C. 3 kl;Lk;  D. 1 kl;Lk;  

 

 
POLITY 

 
67. The article of the Constitution provides for a Vice President 

A.  Article 53    B.  Article 356    C.  Article 360     D.  Article 63 
FbauRj; Jizj; jiyth; gjtp gw;wp ve;j murpayikg;G rl;lg;gphpT 
$WfpwJ? 
A. 53   B. 356  C. 360  D. 63 

 
68. Match the following : 

a. Governor    1. Article 171 

b. Chief Minister   2. Article 170 

c. Legislative Council  3. Article 153 

d. Legislative Assembly  4. Article 163 

  a b c d 

A. 3 2 4 1 

B. 3 4 1 2 

C. 1 4 3 2 

D. 2 3 1 4 

nghUj;Jf. 
A. MSeh;    1. tpjp 171 
B. Kjyikr;rh;    2. tpjp 170 
C. Nkyit    3. tpjp 153 
D. rl;lrig    4. tpjp 163 
 a b c d 
A. 3 2 4 1 
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B. 3 4 1 2 
C. 1 4 3 2 
D. 2 3 1 4 

 
69. In which Article make provision for the appointment of a law officer, the 

Attorney General by President of India? 

      A. Article 66 B. Article 67 C. Article 76 D. Article 96 

      rl;l mYtyh;fs; kw;Wk; kj;jpa muR jiyik tof;FiuQh;fis ve;j   
  tpjpapd; fPo; ,e;jpa FbauRj; jiyth; epakpf;fpd;whh;? 

     A. tpjp 66  B. tpjp 67  C. tpjp 76  D. tpjp 96 
 

70. The Government of India introduced the Rights to Education on 

   A. 15th August 1947    B. 26th January 1950 

   C. 1st April 2010    D. 2nd October 2012 

 ,e;jpa muR fy;tp chpikr; rl;lj;ij eilKiwg;gLj;jpa ehs;  
  A. 15 Mf];l; 1947        B. 26 [dthp 1950  
  C. 1 Vg;uy; 2010     D. 2 mf;Nlhgh; 2012 
 

71. When was the Legal Services Authority Act (Lok Adalat) passed? 

   A. 1985  B. 1987  C. 1986  D. 1988 

 chpik gzpr; rl;lk; (Nyhf; mjhyj;) ve;j Mz;L epiwNtw;wg;gl;lJ?  
   A. 1985  B. 1987  C. 1986  D. 1988 

 
72. Find out the wrong rules of the national flag. 

A. The national flag should be raised and lowered carefully 

B. We must lower it before sun set 

C. No other flag should be placed higher than it nor should any flag   

 be placed to its left 

D. We must stand in attention when the flag is hoisted 

  Njrpa nfhb gw;wpa jtwhd tpjpia fz;Lgpbf;f. 

A. Njrpaf; nfhbia Vw;Wk; NghJk; ,wf;Fk; NghJk; ftdkhfr; nray;gl 

Ntz;Lk; 

B. #hpad; kiwAk; Kd; Njrpaf; nfhbia ,wf;fp tpl Ntz;Lk;  

C. NtW ve;j xU nfhbiaAk; ekJ Njrpaf; nfhbapd; ,lJ GwNkh my;yJ 

nfhbia tpl caukhfNth gwf;ftplf; $lhJ 

D. nfhbia fk;gj;jpy; Vw;Wk; NghJ ehk; Neuhf epw;f Ntz;Lk;  
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73. Article 41 of the Constitution of India guarantees 

A. Right to work    B. Right to property 

C. Right to live    D. Right Against exploitation 

  ,e;jpa murpay; rl;ltpjp 41 $WtJ 

  A. Ntiyf;F chpik  B. nrhj;Jf;F chpik 

  C. tho;Tf;F chpik   D. Ruz;lYf;F vjpuhd chpik  

 
ZOOLOGY 

 
74. Match the following: 
    Deficiency diseases 

a.  A    1.  Pellagra  
b.  B1    2.  Nictalopia 
c.  B6    3.  Pernecious Anaemia 
d. B12    4.  Beri Beri 
         a b c d 
A.  2 3 1 4  
B.  1 4 2 3 
C.  4 1 3 2 
D.  2 4 1 3 

 nghUj;Jf: 
    Fiwghl;L Neha;fs; 
 a. A   1. ngy;yf;uh 
 b. B1   2. epflNyhgpah 
 c. B6   3. ngh;dPrpa]; mdPkpah 
 d. B12   4. nghp – nghp  

         a b c d 
A.  2 3 1 4  
B.  1 4 2 3 
C.  4 1 3 2 
D.  2 4 1 3 

 
75. Choose the correct : 

1. Amnion provides a fluid medium for the embryo. 

2. The Chorion and Allantois fuse to form placenta. 

3. Yolk sac provides a fluid medium for embryo. 

A. 1 and 2 are wrong   B. 1 and 2 are right  

C. 2 and 3 are right    D. 1 and 3 are right 



 

24 
 

  1. Mk;dpahd; ePh;k Clfj;ijf; fUtpw;F nfhLf;fpwJ 
  2. Nfhhpahd; myz;lha;]; ,ize;J jha; Nra; ,izg;ghf khWfpwJ 
  3. Nahf;rhf; ePh;k Clfj;ijf; fUtpw;F nfhLf;fpwJ 
  vJ rhp? 

  A. 1, 2 jtW  B. 1, 2 rhp  C. 2, 3 rhp  D. 1,3 rhp  

 
 

 


